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NB|FEFEAS [EE 150 1500 0 1500 10 0 0 0 2052 0 432
& 150 1500 0 1500
1201[83% % 58 870 0 870 15 0 0 0 864 0 648
& 58 870 0 870
1203[F ¥Ry [EH 171 1710 0 1710 10 0 0 0 1134 0 864
ZH 100 1500 0 1500 15 0 0 0 0 864 0
GhH 551 6010 0 6010
1205|[F5nAE [EE 94 38 38 0 0.4 113 0 103 0 0 0
GhH 269 73 38 35
1207| B & PN 45 45 45 0 1 0 270 0 0 0 0
GhH 1675 208 208 0
1209 B & B 10 30 0 30 3 0 0 0 1836 0 1512
GhH 10 30 0 30
1301 |FF mE 6 12 0 12 2 0 0 0 918 0 864
#mE 9 45 0 45 5 0 0 0 2160 0 1620
[E)) 21 81 0 81
1311[FF EE 58 232 0 232 4 0 0 0 1080 0 648
EE 75 450 450 0 6 1890 0 972 0 0 0
EES 105 420 0 420 4 0 0 0 1188 0 972
[E)) 238 1102 450 652
1321 [ mE 16 80 0 80 5 0 0 0 2160 0 1836
BiE 206 1030 0 1030 5 0 0 0 2376 0 2160
GhH 222 1110 0 1110
1351|[E—<> |[X& 1020 153 0 153 0.15 0 0 0 92 0 86
x5 100 450 0 450 45 0 0 0 1944 0 1836
Eh 1120 603 0 603
1355|495 BERS 160 16 0 16 0.1 0 0 0 0 81 0
ERE 14 42 0 42 0 0 0 2052 1944
(&) 174 58 0 58
1361[RAr0>  [EH 30 150 0 150 5 0 0 0 1512 0 1296
(&) 30 150 0 150
1411 [BRE Eh 226 96 96 0
1513[A—94> [BER 10 100 0 100 10 0 0 0 0 1404 0
Eh 10 100 0 100
1521[BE BERS 5 10 0 10 2 0 0 0 0 1080 0
Eh 5 10 0 10
1541 [E& EE 340 3400 0 3400 10 0 0 0 1404 0 1188
Eh 340 3400 0 3400
1603[)L)— [RE 7 70 0 70 10 0 0 0 3240 0 2916
Eh 7 70 0 70
1609|7Aval) |EH 20 120 0 120 6 0 0 0 3780 0 3240
Eh 20 120 0 120
1611[LBR E% 10 100 0 100 10 0 0 0 1188 0 864
Eh 10 100 0 100
1612| 4 =L 2R |EH 5 25 0 25 5 0 0 0 1188 0 972
Gh 5 25 0 25
1627[2=k=F _[&EJI 60 12 0 12 0.2 0 0 0 0 140 0
S 75 225 0 225 3 0 0 0 1512 0 1188
(&) 223 262 0 262
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1705+ &= =20 810 65 0 65 0.08 0 0 0 0 108 0
=0 9 36 0 36 4 0 0 0 0 5616 0
GD 823 117 0 117
1803 HE S 300 30 0 30 0.1 0 0 0 0 125 0
=) 450 90 0 90 0.2 0 0 0 77 0 66
& 1200 165 0 165
1807 |8 & E% 160 16 0 16 0.1 0 0 0 82 0 49
£ 1200 240 0 240 0.2 0 0 0 59 0 56
% 200 60 0 60 0.3 0 0 0 0 59 0
& 1560 316 0 316
1809|L &L EH 150 15 0 15 0.1 0 0 0 0 49 0
& 150 15 0 15
* SFEET * 15335 29977 1324 28652
2611|E4—7 [E 2 4 0 4 2 0 0 0 0 5940 0
[ED) 2 4 0 4
2701|7—JLR &% 2 18 0 18 9 0 0 0 0 9180 0
(&) 2 18 0 18
* S FAET * 8 44 0 44




